SAP ABAP table RECP CONDITION C {Condition}

—_— =

TCURC
MANDT [CLNT (3)]
WAERS [CUKY (5)]

TIVO1l
MANDT [CLNT (3)]
SNUNR [NUMC (4)]

TIVCDCALCEXT

7/

e

MANDT [CLNT (3)]

CALCRULEEXT [CHAR (4)]

TIVCDCHGREAS

MANDT [CLNT (3)]

ASON

-7 i RECP_CONDITION_C-CHGREASON = TIVCDCHGREAS-CHGREASON ON

CONDTYPE [CHAR (4)]

—_—

CHGREASON [CHAR (10)]

- -

TIVCDCONDTYPE

MANDT [CLNT (3)]
CONDTYPE [CHAR (4)]

L -

TIVCDDISTEXT

0..N

MANDT [CLNT (3)]

DISTRULEEXT [CHAR (4)]

RECP_CONDITION C-TAXTYPE = TIVRATAXTYPE-TAXTYPE 0.N

= — - —

TIVCDFLOWTYPE

MANDT [CLNT (3)]
FLOWTYPE [CHAR (4)]

TIVRATAXGROUP
MANDT [CLNT (3)]

TAXGROUP [CHAR (20)]

TIVRATAXTYPE
MANDT [CLNT (3)]
COUNTRY [CHAR (3)]
TAXTYPE [CHAR (4)]




